Name: Math Morning Work Week 6
Monday Mon. Workspace B Tuesday Tues. Workspace
What is the place What is the value of the
value of the A. underlined digit? A.
underlined digit?
< B. A. 1,711,799 B.
A. 7,273,779
B. 4,203,280 B. 4,882,217
Draw an array to Frank and Bob went
represent 5 x 3. fishing. Bob caught 24
fish. This is 6 times as
o many as Frank. How
many fish did Frank
catch?
Order the numbers List all the factors of 18.
from GREATEST to
» | LEAST.
283,299; 83,299; 823,299 Is 18 prime or composite?
A pack of six pencils Complete the pattern.
costs five times as
much as a single In | 1 3110
< | pencil. A single
pencil costs 9 cents. Out| 6 8 20

How much does a
pack of pencils cost?

62,817
-43,521

Find the difference.

Estimate the difference.

62,817
-43,521

Find the Sum.

29,867
+14,.938

Estimate the Sum.

29,867
+14.938

Joe is learning to play the trumpet. On Monday he practiced from 6:30 until 7:05. On Tuesday he
practiced from 3:55 until 4:15. How many minutes did he practice in all over the two days? Explain
your thinking and show your work.




Wednesday Wed. Workspace Thursday Thurs. Workspace
Round this number to Round this number to the
the nearest thousand. nearest hundred thousand.
2,042,822 9,740,399
Is the product of Kate has a seashell collection A.35=5+7
seven times eight of 35 shells. This is five times
. ite? as many as her brother. How B 5x7=35
prime or composite: many shells does her brother )
have? Which multiplicative
comparison matches the word C.7=35%x5

problem?

Jonathan has 3,982
stickers in his sticker
collection. Jessie has
2,825 stickers in his
collection. How many
stickers do Jonathan and
Jessie have all together?

James has 20 pencils, 25 erasers,
and 40 paperclips. He organizes
them into groups with the same
number of items in each group.
All the items in a group will be
the same type. How many items
can be put in each group?

Complete the pattern.

3,6, _, 12,
15, 21

Circle the line of
symmetry that is drawn
correctly.

Sue ate 30 cherries.
She ate 5 times as
many cherries as
Bob. How many
cherries did Bob eat?

Chris has 2 feet of ribbon,
and Jessie has 36 inches
of ribbon. Who has more
ribbon?

Uncle Ben has 440 chickens on his farm. 39 are roosters and the rest are hens. 15 of his hens do not lay
eggs. The rest lay eggs. How many egg-laying hens does Uncle Ben have on his farm? Explain your

thinking and show your work.




